G p and v coincide

Theorem 11.

Proof (Theorem [[1]). First we recall the definition of equivalence between for-
mulae P = Q iff Vp.([P], = [Q],) V ([P], and [Q],) both do not exist.
In this proof, we write T for S x H, we sometime write C¢ for T \ C.
Let B = [vX,.P], and A = [uX,.~(P{—-X,/X,})],, we want to prove that
(B exists = A exists and B¢ = A) , and (A exists = B exists and A° = B).
If B exists, then
e B = gqu%)\X. [P]ip1x,—x], SO
e B is the biggest such that B = [P],x,—5], 0
e B¢ is the smallest such that T \ B® = [P],x,—T\Be]> 50
e B¢ is the smallest such that B¢ = T \ [P]yx,—T\Be]; 50
e B¢ = lfpwg)\X. T\ [Pl x,—T\x], then from Th. [
o B¢ =1fpg AX. T\ [P{~X,/X,}]{p|x,—x], Which is
o B° =1fpg AX. [~P{~X,/X,}]px,—x], 50
o A exists and B¢ = A
If A exists, then
o A=1pAX. [~P{~X0u/Xo}pix,—x]s 50
o A=1fpsAX. T\ [P{~Xy/X,}pix,—x] then from Th. [
o A=1fpsAX. T\ [Pj)x,—7\x], which is
e A is the smallest such that A = T \ [P],x,—T\4], 50
e A is the smallest such that T \ A = [P],x,—T\4], 50
e A is the biggest such that A° = [P][,x,— 4], 50
o A¢ = gfpg%)\X. [P] i x, —x75 SO
o B exists and A° =B
For the case pX,.P = —-v.~(P{-X,/X,}), we proceed the same way. [
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